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	*** First Change ***


4.7a
Extended Coverage Synchronization channel (EC-SCH)

4.7a.1
Block constitution

The burst carrying the synchronization information on the downlink EC-SCH contains 30 information bits {d(0),d(1),..., d(29)}.

4.7a.2
Coding

The 30 information bits {d(0),d(1),..., d(29)} are encoded as follows:
a)
Parity bits:
Ten parity bits {p(0),p(1),,...,p(9)} are defined in such a way that in GF(2) the binary polynomial:

d(0)D39 +...+ d(29)D10 + p(0)D9 +...+ p(9), when divided by:

D10 + D8 + D6 + D5 + D4 + D2 + 1, yields a remainder equal to:

D9 + D8 + D7 + D6 +  D5 +  D4 + D3 + D2 + D+ 1.
b)
Tail bits:
Four tail bits equal to 0 are added to the information and parity bits, the results being a block of 44 bits {u(0),u(1),...,u(43)}:

u(k)
= d(k)


for k = 0,1,...,29
u(k)
= p(k‑30)

for k = 30,31,...,39
u(k)
= 0



for k = 40,41,42,43 (tail bits)
c)
Convolutional encoder:
This block of 44 bits {u(0),u(1),...,u(43)} is encoded with the same convolutional code of rate ½ as for TCH/FS, defined by the polynomials:

G0 = 1 + D3 + D4
G1 = 1 + D + D3 + D4

This results in a block of 88 coded bits {C(0),C(1),...,C(87)} defined by:

C(2k)

= u(k) + u(k‑3) + u(k‑4)

C(2k+1)
= u(k) + u(k‑1) + u(k‑3) + u(k‑4)

for k = 0,1,....,43 ; u(k) = 0 for k < 0
The block is punctured such that the bits C(k), k=[0,10,19,29,39,48,58,68,77,87] are not transmitted, resulting in a block of 78 encoded bits {e(0),e(1),..., e(77)}. 
4.7a.3
Blind physical layer transmission
The encoded bits e(j), j=0,…,77 are transmitted 28 times, generating the repeated bursts R(B,j)=e(j), B=0,…,27, j=0,…,77.

4.7a.4
Cyclic shift

When mapped on the physical channel, see 3GPP TS 45.002 [8], the repeated bursts are cyclically shifted as

R’(B,j) = R(B,(j+ T2'') mod 78)

where


B = b + 7xT2'', b=0,…,6 and j=0,…,77.
	*** Second Change ***


5.3.2
Extended Packet Access Burst
5.3.2.1
Block constitution
The burst carrying the extended packet random access uplink message contains 11 information bits d(0),d(1),...,d(10). 

5.3.2.2
Parity bits

Six parity bits p(0),p(1),...,p(5) are defined in such a way that in GF(2) the binary polynomial:


d(0)D16 +...+ d(10)D6 + p(0)D5 +...+ p(5), when divided by D6 + D5 + D3 + D2 + D + 1 yields a remainder equal to D5 + D4 + D3 + D2 + D + 1.
5.3.2.3
Addition of BSIC
The (first) six bits of the BSIC, {b(0),b(1),...,b(5)}, of the BTS to which the Random Access is intended, are added bitwise modulo 2 to the six parity bits, {p(0),p(1),...,p(5)}. 
This results in six colour bits, C(0) to C(5) defined as C(k) = b(k) + p(k) (k = 0 to 5) where:

b(0) = MSB of PLMN colour code

b(5) = LSB of BS colour code.
This defines {u(0),u(1),..., u(20)} by:

u(k) = d(k)

for k = 0,1,...,10

u(k) = C(k‑11)
for k = 11,12,...,16

u(k) = 0


for k = 17,18,19,20 (tail bits)
Exceptions apply to EC-RACH (see subclause 5.3a) and when sending access bursts on EC-PACCH/U (see subclause 5.4) where the BSIC consist of 9 bits, and where also the last three bits of the BSIC {b(6),b(7),b(8)} of the BTS to which the access burst is intended are added bitwise modulo 2 to the three last information bits d(8), d(9) and d(10). In this case, the bitwise modulo 2 operation results in nine colour bits, C(0) to C(8), defined as C(k) = b(k) + p(k) (for k = 0 to 5) and C(k) = b(k) + d(k+2) (for k = 6 to 8) where:

b(0) = MSB of PLMN colour code

b(8) = LSB of Radio frequency colour code.
This defines {u(0),u(1),..., u(20)} by:

u(k) = d(k)

for k = 0,1,...,7
u(k) = C(k-2)

for k = 8,9,10
u(k) = C(k‑11)
for k = 11,12,...,16

u(k) = 0


for k = 17,18,19,20 (tail bits)
5.3.2.4
Convolutional code
The coded bits {c(0),c(1),..., c(41)} are obtained by the same convolutional code of rate ½ as for TCH/FS, defined by the polynomials:

G0 = 1 + D3 + D4
G1 = 1 + D + D3 + D4

and with:

c(2k) = u(k) + u(k‑3) + u(k‑4)

c(2k+1) = u(k) + u(k‑1) + u(k‑3) + u(k‑4)

for k = 0,1,...,20 ; u(k) = 0 for k < 0

The code is punctured in such a way that the following coded bits:

c(0), c(2), c(5), c(37), c(39), c(41) are not transmitted.

This results in a block of 36 coded bits, {e(0), e(1),...,e(35)}.

	***End of Changes ***


